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Note :This paper contains FIFTY (50) multiple-choice/Assertion/Reasoning
Matching questions. Each question carrying TWO (2) marks. Attempt All

g :

the questions.
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Privatisation of ownership through

sale of equity share is called :
(A) Merger

(B) Disinvestment

(C) Contracting

(D} None of the above

The liability that is payable in more
than a year and is not to liquidated

from current assets :

(A) Current Liability
(B) Fixed Liability

(C) Contingent Liability

(D) All of the above

Sslel A+ da gl WS-

wiraflsraA L sdari »0d 87
a) Qd-lse

B) {alqsllse

(C) 52

(D) il 254 4]

geuoieidl 3 ¥ A avlell ag auudl

ysaqiulal 9 A ddHLd

syl AN 51 wsi Al
(A) aduid waeet Tl

B) [HBad wwsel?l

© waﬁu{s Faeietl

D) QUL s
[P.T.0.]



3. The kinked demand curve g yjyquul didri a5 ¥uad @

" explains :
(A) GUd Yddl

(A) Price rigidity

_ (B) U gl

(B) Price flexibility

(C) HidL el
(C) Demand rigidity

(D) Demand flexibility | (D) HdL WAL

4. Which among the following is not 4. ~{A-uuidl 5y Aeadl sailRd Red

_ ._samplir.lg based on probability ? -yl :
(A) Random Sample (A) ugx9 [Red
(B) Strata Sémple ' | | (B) ARd [Asd
(C) Cluster Sample | | (C) vt (el
| (D) Quota Sample | (D) wl [Aesl
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MATRIX organisation is also

known as :

(A} Product Organisation
(B) Process Organisation
(C) Project Organisation
(D) Functional Organisation

Which of the following would be the

best illustration of a subculture ?
(A) A religion

.(B) A group of close friends

(C) Your University

(D) Your Occupation

Coxﬁmerce—II
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MATRIX 2022 %1 54 AR 2000
8?

&) Aisse TASHaA

®) WA TusHur _

(C) WFs2e idlaudsda-

(D) Ssu-el HNudIu-

AAnil sy (wWRea) Gy Al

(Aot—seu3) o é‘tha Gelsrel 87
(A) Adlay

(B) e Bolivdl uds

() auRl [Qralaanay

(D) d™IL gAY
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‘BOLT’ system in the Indian

Securities market is related to :
(A) National Stock Exchange
(B) Bombay Stock Exchange

(C) Over the Counter Stock

Exchange of India

(D) Multicommodity

Exchange

Providing employees with basic

background information about the

firm is :

(A) Employee Orientation
(B) Education

(C) Colleges and Universities

(D) Required by law

Commerce—]I
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olcly 4R @Ml (Security

market) AeolHl ‘olice’ ugla 59 A2

AL Wsdd 7
(A) AUAd Wis 2LsAAy
(B) 6l34) 0Ly wsAUA-%

(C) 42 4 51323 Wis AsYA~

wis SeSlul

(D) HeASHISIE 22ls MsAAw

s AU R yuepd Yoy

Hiladl y2l wsdl :

(A sl a»{&tﬁ}»tctt

(B) (22

(C) [Aeuety 2w Hs1Qznay

D) sell3y ¥3RRud



10.

11.

ECGC stands for :

(A Export Credit Guarantee
Company

(B) Export Credit Guarantee
Corporation Limited

(C) Export Credit Guarantee
Company Limited

(D) Export Credit Guarantee

Corporation

The Reserve Bank of India (RBI)

came into existence legally as on :
(A) 1st April, 1935
(B) 1st April, 1927
(C) 1st April, 1947
(D) 1st April, 1949

The concept of Management by

Objectives was developed by :
(A) Drucker

(B) McGregor

(C) Simon

(D) Elten Mayo

| Commerce—II

10.

11.

- ECGC »ed § :

(A) A&V 382 AIA syl

B) A&wd 3052 AT siviIan
(&3les

(C) RaMé 332 AIA su-l [3lles

(D) Rawé 3Rz AIA sidIa

Ao ats 25 Seslu, sesly Ja

58 AW wnani wudl ¢
(A) 1 dl 2B 1985
B) 1 dl xR, 1927
(C) 1 dl xARa 1947
M) 1 et Al 1949

Sqll G131 Al QAsia st

g2l Rsaaani 2l edl?
(A) §52

(B) AU

(C) R

D) weer AUl
' [P.T.0.]



12. Which of the following is referred  12.

.to as a predecessor to WTO ?
(A) GATT

(B) IMF

(C) OPEC

(D) World Bank

13. Capital structure designing has  13.

nothing to do with :

(A) Profitability

(B) Flexibility

(C) Corporate. Governance

(D) Liquidity

Corrimerce—II 8

WTO 1 YRewl ddly fla-uniel sin

v 21U 97
(A) 312

(B) S M WS
(C) s

(D) A4S oivs

Tfled psu Slod-Hla’ e

wd 59 sald el
(A) ASL515cll

(B) YaU3ell

(C) sidlRe o~

(D) diédl



14. Patents,

15.

Copyrights and

Trademarks are :

{A) Current Asset

(B) Fixed Asset

(C) Intangible Asset

(D) Investment

By which act government checks

restrictive trade ?

(A) Industrial Policy Act, 1991

(B) MRTP Act

(C) FEMA Act

(D) None of the above
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14.

15.

Yered, sidluided ad 2sHisa

(A) adit vasudd
(B) [APad srsumd
(C) w;;[ A2EAHA
(D) s

4L MM gl sy waeiAd

Qe asiel 53 97

A) WeiBs Adl xEAR 1991
(B) MRTP u[aluy

(C) FEMA un(afAun

D) Guidl Ay ug Al

[P.T.O.]



16.

17.

Which one among the following is

a relative measure of dispersion ?
(A) Mean deviation

(B) Range

(C) Coefficient of variation

(D) Standard deviation

Who invented Double Entry

system ?

(A) F.W. Taylor
(B) anry Fayol
(C) Luca Pacioli

(D) Maslow A H.

Commerce—II
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16.

17.

QAAnmigl 54 nwAd wla Y

(A) U3y [Aad-
(B) (AR
(C) AHLS
D) uuRld [Qudn

‘soid A-dl Bed’ L us sl

(A) dlg.s0&y, 25dR
(B) &3] 3ul4
©) a5 ARidl

@) A\ AA. Wil



18. The business buyer has to make 18. €3y ALSS (ol ouuR) wUR

the fewgst decisions when involved quﬁl*ﬂ T EDTCTRET | BRI TR B R
in a : 53 9 ¢

(4) Modified rebuy (A) ¥Mists1ds oun

(B) Regular buy - (B) dyar ouy

(C) Straight febuy (C) wde Q'lbtll{.

(D) New task (D) Y e

19. A Joint Stock Company is managed  19. A2 s sudld daa- .........

by the Board of Directors elected gt Yeidal ol s SlIseA gl
by : | sl 21d 8.

(A) Top Management | (A). 2y Aoy~

(B) Shéreholders | B) élé slesl

.(C) Er_nployees of Company .(C) su-lrl siHel

(D) None of the above ®) GHQ‘{lﬁﬂ 51 sl
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20. Convertible bond is : 20. sadlog oi-s weq :

(A) Debt + Warrant (A) B + diwe

(B) Débt. + Cash (B) 2q + USS

(C) Debt + Share | - © 29 + A2

(D) None of the above D) GuHifl Asuw AT

21. An agreement which contains  21. 5 53U i we A AR WL

two contracts to buy and sell is A 5L Ql‘-lla&l TR I
called : o sdaty.

(A) Buyback | .(A) CI2P

(B) Escrow (B) sl

(C) Switch Trading (C) xlly gsla

(D) Contract Manufacturing (D) si=pise Arydsulal

22. For the purpose of preparation of 22. §S sal wedrerfl YAU~L 8q M2,

fund flow statement, fund mean : gs+l 2 :

(A) Total resources | (A) &4 Ayl

(B) Cash/Bank balances (B) z'isé/c?{s Rias
(C) Current assets (O addinl sRsMdA
(D) Working capital M) silella Hgl

Commerce-I1 12



23. Copy testing is also known as : 23 sifl 2xdlad ... dls uw
AL 21 9.
(A) Pre-testing
(A) Ml 2l
(B) Copy writing |
B) sl ASA3L

(C) Concurrent testing ~ .
(C) sirsrwe 8oL

(D) Preview | @) A &

24. Which one of the following will not 94 il sy s{sidl HIA a2

affect the working capital ? 529 dl?

(A) Sale of plant and machinery in .
(A) ettve wA 1l AssHL QAR

cash
(B) 2auelz WA Assl ayald

(B) Realization of cash from
| (©) Ssldl A oy sra1 (S il
debtors

Ssldl Q)
(C) Issue of equity shares

_ (D) QA= audr
(D) Redemption of debentures

.Commerce—I11 18 [P.T.O.]



25. The managerial grid model of 25.

leadership was developed by :
(A) Fiedler

(B) Hersey and Blanchard

(C) Tannenf)aum and Schmidt

(D) Blake and Mouton

26. Horizontal job rotation refers to :  26.

(A) Lateral transfer
(B} Lateral promotion
(C) Lateral motivation

(D) All of the above

27. A line graph indicates ; 27.

(A) Comparison

(B) Variation

(C) Range

(D) All of the above

Commerce—I] 14

dlsafllunt Anxlud olls Ayl sid

RsAmedl sdl?

(A) &5s4R

(B) s¥ s cAs

(C) 2By aivs as¥lse

(D) vak s Hien

gidloived Aol J2a Aed 3.:
(A) A2 Zl-u$

(B) Az2e Wwilart

(C) dere Hidldant

(D) QUL ol o

v A YAd B ¢

(A) dé-iL

(B) [@a39 (ARAyx)

(©) [

(D) GUIL dxn



98. The term group equilibrium is

29.

related to :

(A) Monopolistic competitiqn |
(B) Oligopoly

(C) Duopoly

(D) Perfect competition

viererieennnn. 18 simply the use of

Electronic means to transfer funds
directly from one account to another

rather than by cheque or cash.
(A) M-Banking
(B) o-Baﬁkiﬁg
(C) E-Banking

(D) D-Banking

Commerce-11
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ol Angel Aoilid &

(A) SuAYst sAsd
(B) »leusds 2L
(C) [Esds Smrlul

@O yol a1

29, A5 UL AUsSHl WUV isiuA, s

vipatdiel oflon vildidi @idl2d
sl SAseURE AL Guyiam

........ PRETCR S
(A) WM-6-5ldL
(B) l-6l-5l0

(C) O-a4lat

(D) $-Geflo
[P.T.O.]



30.

31.

32.

The Industrial Employment

(Standing Orders) Act was enacted
in : | |
(A) 1950

(B) 1946

(C) 1947

(D) 1960

In ABC Analysis, ‘A’ stands :
(A) High Price’s goods

(B) Lower quality goods

(C) High volume goods

(D} More quality goods
Break-even means :

(A) Costs are more than the reserve
(B) Revenue and cost are equal
(C) Revenue is more than cost

(D) None of the above

Commerce-—II
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30.

31.

32.

fl S-sxdlua Arudiyd-e (:R-gla

HLSU) AL S14El 5413 wsani

wipey|?

(A) 1950

(B) 1946

(C) 1947

(D) 1960

ABC [as@ugni ‘A’ vied § -
(a) Gl [(3xarl deiy

B) -l ymadialdl Asia
(€) G dieynaidll Aelgy
(DI)_ ag deiariaddl eia
‘As Sa’ wed :

(A) W AAind 53l 9y
(B) uvll 2wl A w3
(©) ue-ll W sdL ay

(D) 24l s ALl



33. FEMA signifies : °

34.

(A) Free Export Management Act

(B) Foreign Exchange Manage-

ment Act

(C) Foreign Exchange Monitoring

Act
(D) Free Export Marketing Act

are set of

..............................

interdependent organisations

‘participating in the process of

making a product or service

available for use or consumption.
(A) Marketing channels

(B) Marketing terrains

(C) Communication channels

) Sales territories

Commerce-I1
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33.

34.

FEMA (%) zﬁc‘t Q

(A 8 A A2 A2

(B) i3 WA~y A2 W52
(©) i3 AadA-y w2 s

(D) 8l AQuid Wil A%

ASHAL AU A2 ety ¥ Al
Guaou saidl vuudl M2l idR

el ARl Ay Red -
(A) IR A

(B) wiilZar elau

(C) sFZUA A

(D) Ay ey

[P.T.O.]



35.

36.

Which among the following is
not the instrument of monetary

policy ?

(A) Deficit financing

(B) Statutory liquidity ratio

(C) Cash reserve ratio

(D) Open market.operation policy

A reciprocal licencing agreement in
which intangible property is
transferred between two parties is

known as :

(A) non-exclusive licence
(B) cross-licence

(C) exclusive licence

(D) transfer of licence

'‘Commerce—I1
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35.

36.

r@ruﬂia{l 54 Awensly Rl e
l?

(A): wiy R

(B) dauls dzadt £

(C) AUSS -Hd €3

(D) veadl o2 [Adl

WIS YAl 52U YU 6 v
2 AYd Besdn 2vas s 20d

....... PRETETRRTE: B2 )
(A) B [Alkre Ay
(B) slA—v2ai-lt

(©) [Afe waquq

(D) vat-i{l 30184



o

37.

38.

39.

The appropriate ratio for indicating
liquidity crisis is :

(A) Operating Ratio

(B) Sales Turnover. Ratio

{C) Current Ratio

_(D) Acid Test Ratio

Imperfect competition was

introduced by :
(A) Marshall

(B) Chamberlin

- (C) Keynes

D Adam Smith

An example of .Fixed Assets 1s :
(A) Live Stock

(B) Value Stock

(C) Income Stock

(D) All of the above

Commerce-I1
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37. dRedt 5253l YA s HBHl Wy

38.

39.

delin sul 87

(A) AU i[ﬁtéﬁ
(B) At 2dwilar Rl
(©) 532 A

O) MN[s 22

248 ¢S s gL 3 s

el ecdl?

A) udd

(B) o1l

(€) 35

(D) AsH [y

Rauy dulud 2s Gelsw :

(A) dida @5

(B) Aey ¢ls

(C) H5H WS

(D) BGURHAL ™A

[P.T.O.]



40. Human resource audit summarize 40. Hina dauaq »ile e3s sHulu

slued v ... A ARiw 2l
each employee’s skill and :
6.
(A) Abilities
(A) ¥l
(B) Property
(B) (Mesa
(C) Evidence
(C) YRlal
(D) Life (D) @an

41. Value of Pearson correlation 41, - aezioiﬂlaj e L.l

coefficient is between .................. . | { 423 ¢y 9
(A) 0to 1 a) o dl 1
(B) 0 to -1 B 0l -1
(C) -1 to +1 . (C) -1 o] +1
© (D) —= to +oo (D) —o &l +co

Commerce-I11 - 20



42. Which among the following is an  42. «{lA-iidl sy '2$ WMlu’ e

example of Trade Promotion ?
(A) Coupons

(B) Samples

(C) Push money

(D) None of the above

43. Basically there are ................... 43.

parties to a bill of exchange.
(A) Four

- (B) Two
(C) One

(D) Three

44. Hawthorne experiment was 44

conducted by :

(A) Elten Mayo

(B) Henry Fayol
~ (C) F.W. Taylor

M) P.F. Drucker

Commerce—-I1 21

Gelsel 87
A) su()
(B) Axudd
(C) ya H-l

@) Guunidl s R

e s wadew’! Hl A Aad

(A) AR
(B) &
(C) M

(D) =\t

Slalel NPl Sl glRL Sl 4Rl

Ul wdl?

(A) Neer Adl

(B) 43l 3uld

(C) 95.56¢y, 254

D) W.As. §52

[P.T.0.]



45.

46,

47,

An indifference curve is always :
(A) Vertical straight line

(B) Convex to the origin

(C) Concave to the origin

(D) Horizontal straight line
t-i;est -7 R .

(A} Parametric Test

(B) Non-Parametric Test
(C) Large Sample Tes_t‘
(D) None of the abové

The Cadbury Committee on
Corporate Governance was set

up in :
(A) May 1992
(B) May 1991

(C) May 1990

- (D) May 1993

Commerce-~I]
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45.

46.

47.

auq[td{‘l a5 $N

(A) Gofl 4l u

(B) Goleigdll aldaila
(©) GofEigdl vidola
(D) 2ust Al Jmy
eulRam »oL .
(A) Madly wRaa

B) Bt swudly e
(©) g el wRaw

(D) Guanidl s wo «4dl

stz dad-u w2 3sedl ulmRHl

YL UL UM wcf] wd)?

(A) ¥ 1992

~(B) A 1991

(C) % 1990

(D) ¥ 1993



48. All the following curves are  48. Al Ay dsl Y—2u514 & Raw

U-shaped except : 3
(A) Average Variable Cost Curve (A) Arta wHRA v s
(B) Average Fix Cost Curve (B) ¥uu R wAd as
(C) Average Cost Curve (C) a3y vy ds

(D) MarginalICost_Curve ._ (D) Alxid wA as

49. Equity Theory of work motivation  49. it i N2au-l Rigia sldl glRl

has been developed by : [sutaaunl suel edi?
(A) J. Stacey Adams (A) %. WAl AUSHA
(B) J. Arun Kaul (B) ¥. ¥ sld

(C) R. Thesis (C) . dRflu

(D) Dr. L.N. Koli (D) Sl. Aa. A, fdl

50. Which one is not an element of 50. 5% 5 ded idRs didtard

internal environment ? 7

(A) Marketing capabilities (A) AL szl

(B) Operational capaBilities (B) uud B
B (C) Money and capital capabilities (C) R 2 48l AR

(D) Personal capabilities (D) Al3dotd amm»ﬁ

Commerce-I1" 23 [P.T.O.]



ROUGH WORK
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